

7.18

$$(7.109) \ln p(w|\tau, \alpha) = \sum_{n=1}^N \{ \tau_n \ln y_n + (1-\tau_n) \ln(1-y_n) \} - \frac{1}{2} w^T A w + \text{const}$$

Σ w<sup>T</sup> 微分可能

∴ ∂

$$\nabla_w y_n = \nabla_w \sigma(w^T \phi(\tau_n)) = \sigma'(w^T \phi(\tau_n)) \{ 1 - \sigma(w^T \phi(\tau_n)) \} \phi(\tau_n) = y_n (1-y_n) \phi(\tau_n) \leftarrow \nabla_w = \frac{\partial}{\partial w} = \begin{pmatrix} \frac{\partial}{\partial w_1} \\ \frac{\partial}{\partial w_2} \end{pmatrix} \text{とみる。}$$

∴ ∂ を使って

$$\nabla_w \ln y_n = \frac{1}{y_n} \nabla_w y_n = (1-y_n) \phi(\tau_n)$$

また

$$\nabla_w \ln(1-y_n) = \frac{1}{1-y_n} (-1) \nabla_w y_n = -y_n \phi(\tau_n)$$

さらに

$$\nabla_w w^T A w = 2Aw \leftarrow \frac{\partial}{\partial x} x^T A x = (A+A^T)x = 2Ax \quad \begin{matrix} \text{成分ごとに確認して} \\ \text{Aが対称なら} \end{matrix}$$

∴ ∂

$$\nabla_w \ln p(w|\tau, \alpha) = \sum_{n=1}^N \{ \tau_n (1-y_n) \phi(\tau_n) + (1-\tau_n) (-y_n) \phi(\tau_n) \} - Aw$$

$$= \sum_{n=1}^N (\tau_n - y_n) \phi(\tau_n) - Aw$$

$$\Phi = \begin{pmatrix} \phi(\tau_1)^T \\ \vdots \\ \phi(\tau_N)^T \end{pmatrix}$$

Block matrix の積

$$= \Phi^T y - Aw \quad \dots (7.110)$$

$$\therefore \Phi^T (\tau - y) = (\phi(\tau_1) \phi(\tau_2)) \begin{pmatrix} \tau_1 - y_1 \\ \vdots \\ \tau_N - y_N \end{pmatrix} = \phi(\tau_1)(\tau_1 - y_1) + \phi(\tau_2)(\tau_2 - y_2)$$

Σ 得る

∴ ∂

$$\nabla_w y_n \phi(\tau_n) = \begin{pmatrix} \frac{\partial}{\partial w_1} y_n \phi(\tau_n) & \frac{\partial}{\partial w_2} y_n \phi(\tau_n) \end{pmatrix} = (\nabla_w y_n) \phi(\tau_n)^T = y_n (1-y_n) \phi(\tau_n) \phi(\tau_n)^T$$

また

$$\nabla_w A w = \nabla_w \begin{pmatrix} a_{11} w_1 + a_{12} w_2 \\ a_{21} w_1 + a_{22} w_2 \end{pmatrix} = \begin{pmatrix} \frac{\partial}{\partial w_1} (a_{11} w_1 + a_{12} w_2) & \frac{\partial}{\partial w_2} (a_{11} w_1 + a_{12} w_2) \\ \frac{\partial}{\partial w_1} (a_{21} w_1 + a_{22} w_2) & \frac{\partial}{\partial w_2} (a_{21} w_1 + a_{22} w_2) \end{pmatrix} = \begin{pmatrix} a_{11} & a_{12} \\ a_{21} & a_{22} \end{pmatrix} = A^T = A \quad \leftarrow \text{A 対称なら}$$

∴ ∂ を使って

$$\nabla_w \nabla_w \ln p(w|\tau, \alpha)$$

$$= \sum_{n=1}^N (-1) y_n (1-y_n) \phi(\tau_n) \phi(\tau_n)^T - A$$

$$= - \left\{ \sum_{n=1}^N y_n (1-y_n) \phi(\tau_n) \phi(\tau_n)^T + A \right\}$$

$$= - (\Phi^T B \Phi + A) \quad \dots (7.111)$$

Σ 得る

$$B = \begin{pmatrix} y_1(1-y_1) & 0 \\ 0 & y_2(1-y_2) \end{pmatrix}$$

$$\Phi^T B \Phi = \Phi^T \begin{pmatrix} y_1(1-y_1) & 0 \\ 0 & y_2(1-y_2) \end{pmatrix} \Phi$$

$$= \Phi^T \left\{ \begin{pmatrix} y_1(1-y_1) & 0 \\ 0 & 0 \end{pmatrix} + \begin{pmatrix} 0 & 0 \\ 0 & y_2(1-y_2) \end{pmatrix} \right\} \Phi$$

$$= y_1(1-y_1) \Phi^T \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \Phi + y_2(1-y_2) \Phi^T \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix} \Phi$$

$$= \sum_{n=1}^N y_n (1-y_n) \phi(\tau_n) \phi(\tau_n)^T$$

$$\leftarrow \Phi^T \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \Phi$$

$$= (\phi(\tau_1) \phi(\tau_1)) \begin{pmatrix} 1 & 0 \\ 0 & 0 \end{pmatrix} \begin{pmatrix} \phi(\tau_1)^T \\ \vdots \\ \phi(\tau_N)^T \end{pmatrix}$$

$$= (\phi(\tau_1) \phi(\tau_1)) \begin{pmatrix} \phi(\tau_1)^T \\ 0 \end{pmatrix}$$

$$= \phi(\tau_1) \phi(\tau_1)^T + \phi(\tau_2) \times 0$$

$$= \phi(\tau_1) \phi(\tau_1)^T$$